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OUE2{LPGHH 2 2AIY AR 2
100,000& x2& #53] 1,000
A AKX LPGHH2Z RS AHY 2,552,500 0 2,552,500
= 2,552,500
402 2I”F X201 & 2,552,500 0 2,552,500
= 2,552,500
03 QIZ+RIETAIS I 2,552,500 0 2,552,500
OZAYH AMXIA LPGHH2 2= 2,552,500
= 2,552,500
OIS ERILPGASE NS H A 540,000 540,000 0
== 200,000
[Ea 340,000
402 2I2E X201 & 540,000 540,000 0
< 200,000
s 340,000
03 2IZHRAETAIHHI 540,000 540,000 0
O=Z0t= LPGEH2 2 AL
540,000,000 » 100 2 540,000
= 200,000
Ea 340,000
TAIIIADI S SLPGHH 2 2 AL 1,287,883 3,312,000 A2,024,117
== 386,365
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2A:
X XH -
o e

=aak

2l A Al ot
OIUX ™ & 5 e
OIUX ==Hd

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

H

901,518

402 2I2FX=01 &

M

—

,287,883

386,365
901,518

3,312,000

A2,024,117

03 SIZ2t? & AR I
J | SSLPGHH 2 2 ALY

—EH0tS LPGHH2+ 2 ALY

>
)

468,411,00024 100 2

—4IA0HS LPGHH 22 AR
440,232,000 100 2

—S&0HS LPGHH

A
00

FAHY
379,240,000& * 10 2

M HH

M H

—_

,287,883
,287,883

468,411
140,523
327,888

440,232
132,070
308,162

379,240
13,772
265,468

3,312,000

A2,024,117

UBHMICH LPGED| A& A

Mo W

4,500
2,250

675
1,575

40,500

A36,000

403 AXIEHMSAH=0ld

HoH W

4,500
2,250

675
1,575

40,500

236,000

225,000 20| CH

HoH W

4,500

4,500
2,250

675
1,575

40,500

A36,000

M

9,900
2,970
6,930

15,000

25,100

UMY

9,900
2,970
6,930

15,000

25,100

M

9,900

9,900
2,970
6,930

15,000

25,100

30,000

50,000

220,000
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A MR T
M U ot 2 B2 A
PV IEPPSETES (ol m2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 21,000
= 9,000
401 A& BIZL20HHI 30,000 50,000 220,000
2 21,000
2 9,000
01 Al&H| 30,000 50,000 A20,000
OMASELEDEY DH M
1,000,000 *30AI CH 30,000
= 21,000
= 9,000
FUHS UK SEEHAS 8,645 8,645 0
= 3,458
= 5,187
402 QI2E X201 ™ 8,645 8,645 0
& 3,458
= 5,187
03 I+ ErAIA I 8,645 8,645 0
OFAAS HHX EBEH At
66,5002 *130AI CH 8,645
T 3,458
[ 5,187
JlehRE AL (UIUX 2LYWSR) 3,600 5,600 A2,000
= 1,800
= 1,800
201 LBt AY| 3,600 3,600 0
& 1,800
= 1,800
01 AtR2telt] 3,600 3,600 0
Ol =2ns & 2L 3,600
& 1,800
[ 1,800
ATHAEMUHK SSEXRALS 979,790 2,839,572 A1,859,782
= 979,790
402 QI2E X201 ™ 979,790 2,839,572 A 1,859,782
= 979,790
03 Q12+ EFALA I 979,790 2,839,572 A 1,859,782
O&=T MTHMAUX S=SEXJAA 979,70
= 979,790
ATHAHOIH K =ERXI R AL 35,438 64,480 A29,042
= 5,438
= 30,000
402 QIZ2HRt=01H 35,438 64,480 A29,042
= 5,438
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2A:

A== N

3 oUX 2tE & S5 JHd
=@ OUX =s2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 30,000
02 QI XHE AL E R (01X THE) 35,438 64,480 A29,042
OLITH AU X =EAXRAAS
1,771,9002 200K 2 35,438
== 5,438
[Ea 30,000
sEXNAHA 440,000 0 440,000
s&E TAINY 440,000 0 440,000
FHESstu S&2 NSHA 440,000 0 440,000
401 AlZHIZ S OHYI 40,000 0 40,000
01 A28l 40,000 0 40,000
OFAH JIE 2SS & WSAIEE gd
XSzt A 40,000
403 TR SHMSAH=01H 400,000 0 400,000
02 SIS0t =S A AEHI 400,000 0 400,000
OFAH=Ssu Sst=2 XS At 400,000
FOIME ol 25,000 0 25,000
AR 25,000 0 25,000
M0 J|ISHelEt WIoIH 29 25,000 0 25,000
201 et 3| 4,300 0 4,300
01 AlR22IH| 2,000 0 2,000
OMEOIZ JISHele wItol Z22 X
= 5003 x15+2,000% 1,000
Odgtld xMelE U=t ¢
150,000& »25+24 600
OMEH M8 425 7 400
02 s3=gHl 2,300 0 2,300
oMol X K20 P
1,520 *100L 104~ 12 1,824
Odgld xtg [l 476
202 04l 2,400 2,400
01 =LHOHI 2,400 2,400
Odglld g2 =4
20,0002 x5 x2S * 12 2,400
206 M=l 18,300 18,300
01 M= HI 18,300 18,300
OM&E0IA Melg XM+ 18,300
geHel &4 425,200 519,366 A4, 166
J22ots EX =Y 425,200 519,366 N4, 166
lesS 2l 425,200 519,366 N4, 166
201 er=23y| 4,200 4,200 0
02 S3=gHl 4,200 4,200 0
OJI2(EehHS SEBAMOIAIAE SAll
350,000 * 1204 & 4,200
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FA 2B
L ITESIEE ¥~
Chelr JIZ2=Eets 8X 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 421,000 500,850 AT9,850
01 Al&H| 418,000 498,000 80,000
Oz (2eHS EXISA
1,800,000 100K 180,000
OII2(2eHE |AES SA 168,000
OJtz(=2ehHs E+= +Y 50,000
OJI2(2ehs MII4Hl FII18ZB FX3A 20,000
03 Al 20HHI 3,000 2,850 150
OJtZ(22HSAY 2| 3,000
AY2IFHI(LEZH) 25,712 27,565 ~1,853
J1I=23sl 25,712 27,565 1,853
JI23Hl 25,712 27,565 1,853
201 =3 19,592 21,445 1,853
01 AtR2t2ltl 18,492 20,400 1,908
OAMRH AIRES 145,0003 x 122 «00% 1,566
O3I1&88J| Xtz 50,0002 123 600
O&=)| gtz 60,0003 * 12 720
O=AD| gtz 330,000 x2CH 123 90% 7,128
O=AEXTY
21,9003 252 A% 122 x00% 5,913
Otlz+sE 712,500& *4=2 J[+90% 2,565
02 S3=gl 1,100 1,045 55
Os&k= & =Al&d 1,100
—324 #s U LERI S
50,0003 *12A1 2t 600
— A2 oled 500
202 04l 2,520 2,520
01 =LHA LI 2,520 2,520
ORANEg =LY
20,0002 * 15 122 *7(f% 2,520
203 =4l 3,600 3,600
04 FAE2EERFAH 3,600 3,600
ORAM2gHI 300,000 * 122 3,600
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